(An Autonomous Institution)
COIMBATORE-641 035, TAMIL NADU

s SNS COLLEGE OF TECHNOLOGY
g
5

TUTIONS

UNIT-111 UNSYMMETRICAL SECTIONS
Method for finding Bending Stress in Unsymmetrical Bending

1. Find C.G. of the given section

2. Determine I, 1,,, I, of the given section

21
3. Calculate value of 8 from tan20=’—_"’—
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4. Find values of I, and Iy,
5. Find M and its components
6. Find resultant bending stress

Fig. shows an unequal angle of dimensions
100mm by 6omm and 10mm thick. Determine:
(i) Position of principal axes and
(ii) Magnitude of the principal moments of

2 inertia for the given angle.
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